6.) (5 pts each, 10 pts total) Use your knowledge of proportions to answer each of the
following:

a) A phone store earned $112.32 after they sold 18 phone cases. Write an equation
that can be used to express the relationship between the total money earned (t)
and the number of cases(c) sold.
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7.) (2.5 pts each, 10 pts total) Use you knowledge of conversions to answer each of the
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8.) (2.5 pts each, 5 pts total) Convert each percent to a decimal.
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9.) (2.5 pts each, 5 pts total) Convert each number to a percent.
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10.) (5 pts each, 10 pts total) Use your knowledge of percents to answer each of the
following:
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@ Nate ate 288 pounds of fudge last month. If he expects to eat 20% more fudge
this month than last, how much fudge is he expected to eat this month?

0.2
288 (I + 20'.)

f‘

280(1.2) =134s.b

11.) (2.5 pts each, 5 pts total) Divide each.

a) Round to the hundredths place. 42 57280
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d) RoundT0 the nearest hundredth.
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